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9 Addition - Estimating ______
R RS ISR, A:ﬂ

1. Estimate the answers by rounding to the nearest 10 and (!

adding: (!
(a) 32 + 42 = (b) 51 +31 = ;}
(c) 56 + 28 = (d) 69 +19 = i
‘; (e) 54 + 24 = () 15+83 = ¥
-z (9) 13 + 73 = (h) 85 +29 = |
‘ f
2. Estimate the answers by rounding to the nearest 100 f
s and adding: |
i (a) 670 + 120 = (b) 510 + 280 =
Y (c) 560 + 260 = (d) 390 + 390 =
(e) 510 + 231 = (f) 444 + 110 =
¥ (g) 665 + 118 = (h) 279 + 479 =

‘ 3. Estimate the answers by rounding to the nearest 1,000

i

i and adding:

{ (a) 2,100 + 4,800 = (b) 1,100 + 3,800 =

’ (c) 4,500 + 4,100 = (d) 800 + 6,900 =

| (€) 2,250 + 4,250 = (f) 3,780 + 3,246 = |
(g) 4,164 + 2,873 = (h) 1,891 + 7,431 =

4. Joanne won €5,000. Estimate whether she will have enough
money to buy a computer that costs €1,850, a camera for
€880 and a holiday for €2,600. f

N, G, W . G e, G, G e, G ——— —— — o — . . . —

{
{
|
i
1
{
]
|
i
1
|
, 5. A coffee shop opens six days a week. Look at the number of "|
| customers that the shop had last week and estimate how 1
1
l
[
|
|
|
f
|

many there will be next week: ()

Tuesday 26 Thursday 42 Saturday 89 1
Wednesday 41 Friday 62 Sunday 95 (!

If about half of the customers order ice cream, how many f ‘
Ice creams would you order for next week? H

-‘\rT[ ]
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7. If 29 loaves of a batch of 124 were burnt, how many were OK?

|
1
!
|
|
1
u
1
1 i
; )
l :
| 8. If 236 books from the school library are out on loan, how E
| many books are on the shelves if the complete library has ‘.
| 828 books? |
!
t
; |
!
[
|
|
|
|
|
|

1. (@)12-7 = 2. (a) 24 —10 = f
1 (b) 14 -9 = (b) 33 — 10 = /!
i'= (c)17—8 = (c) 56 — 10 = :|
} (d)13-6 = (d) 73 -10 = ;:
:, €) 15— 9 = (€) 92 — 10 = {
i :l

3. (a) (b) (c) (d) (e) i

846 945 812 771 654 : :

=213 - 317 — 604 — 581 — 236 f

- - — 'l

1 1
i 4 (a) (b) (c) (d) (e) 1
e 780 661 945 888 840 f

— 136 — 223 — 761 — 459 — 253 |

1!

5. (a) 457 — 239 = 6. (a) 617 — 236 = :

(b) 630 — 150 = (b) 540 — 150 = "

(c) 871 — 241 = (c) 987 — 781 = 1

(d) 489 — 190 = (d) 247 — 126 = 7:

(e) 147 — 93 = (e) 580 — 290 = 1

i

o

"

|

|

{

|

9. Ahive had 450 bees. How many bees were left if the queen ,
bee left with 232 drones? '

10. Last year the winning club in the Premier division scored 221 ¢
goals. The team that came second scored 22 goals less. How |
many goals were scored by the team that came second? I

. Subtract 23 from 100 in your head.

%%c(“wmfd&s&hrelass - Strand 1 © Folens 2003
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T8 subtraction__

- ——

1. (@) 18 = 9 = 2. (a) 260 — 100 = 1
(b) 16 —11= (b) 350 — 100 = f
(c) 15 — 8 = (c) 980 — 100 = :
d)17 — 5 = (d) 476 — 100 = |
(€) 14 - 0= (e) 651 — 100 = |

f

3. (a) (b) (c) (d) (e) 3

814 925 738 910 563 |
— 236 — 749 — 649 — 462 — 275 1

4. (a) (b) () (d) (e)

702 608 906 805 701 }
— 543 — 429 — 405 — 279 — 523 1

5. (a) 602 — 455 = 6. (a) 900 — 245 = 1
(b) 803 — 236 = (b) 700 — 379 = 1
(c) 705 — 347 = (c) 800 — 314 = f
(d) 907 — 219 = (d) 600 — 511 = 1
(e) 408 — 49 = (e) 500 — 217 = f

7. Mrs Murphy won €400 and spent €265. How much had
she left?

8. Take 43 from each of these numbers. (When you have the
first one done the others should be easy!)

(a) 400 (b) 800 (c) 500 (d) 300
(€) 900 (f) 200 (g) 600 (h) 700

9. Take 250 from each of these numbers:
(a) 3,000 (b) 7,000 (c) 8,000 (d) 2,000
(e) 9,000 (f) 6,000 (g) 5,000 (h) 4,000

L-—‘-—“-“——“““—w—s\—.
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S 13 Subtraction o
' ST
1 (@14 -14= 2. (a) 2,149 — 1,000 = !
; (b) 21 — 7 = (b) 8,556 — 1,000 = |
1 (c) 22 — 4 = (c) 7,646 — 1,000 = :
; (d) 20 — 9 = (d) 5,151 — 1,000 = f
{ (e) 19 — 11 = (e) 3,950 — 1,000 = :
ij g‘
|
{ - (a) (b) (c) (d) ()
! 5,649 7,411 9,583 8,250 6,161 |
{ ; — 1,452 — 3,280 — 2,661 — 3,340 — 4,043 |
'!
4 () (b) (©) (d) (e)
: | 7,349 8,412 9,764 6,513 5,544
| — 5,555 — 6,124 — 2,826 — 1,651 —1,616
| —— WS Fehed  =2l9l =Y
|
:
, i 5. (a) 8,431 — 2,613 = 6. (a) 8,146 — 5,359 =
¥ (b) 9,417 — 7,129 = (b) 9,141 — 7,263 =
1 (c) 8,713 — 5,525 = (c) 7,143 — 3,388 = {
} (d) 3,331 — 408 = (d) 6,584 — 2,696 =
{ (€) 6,543 — 3,456 = (€) 5,473 — 2,595 = |
: :
| [
| ‘
[; 7. Mr Snoddy is a school principal. One of his many jobs is to !
{ keep a record of how many children are present every day ;
| and every week. Can you help him with his numbers for the f
; past two weeks? There are 512 children on the roll. t
r
! Pupils | Pupils Pupils | Pupils f
Yt o O D e I
| [Mon | 512 | 9 | | (512 | 7 || |
RN LTI N A ,
| [Wed [ 512 | 4 [ | :
| Thu | 512 | 14 | | |
. Fri 512 | 21
) --_ |
[ Week | | [ | !
b —— = = J
ReTION — th
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(@) 20 — 19 = 2. (a) 100 — 3 = ﬂ
’: (b) 20 =17 = (b) 100 — 5 = /!
{ (c) 20 — 14 = (c) 100 — 11 = {
(d)20 — 9 = (d) 100 — 21 = ;:
[ (e) 20 — 3 = (e) 100 — 32 = ;:
3 () (b) © (d) €
3 3,005 4,008 5,007 9,001 8,005 |
.a —-1,456  —1589  —2789 —3344  —3,466 |
t 4. (a) (b) (c) (d) (e)
| 3,000 8,000 7,000 6,000 9,000
—~1,446  —2740 —-6214 —4,023  —7,005

a) 5,002 — 2,108
b) 6,008 — 1,221

6. (a) 9,000 — 2,146 =
) (b) 4,000 — 3,499
c) 8,004 — 2,015 = (c) 5,000 — 156
d) 7,003 — 3,135 = (d) 8,000 — 79
) (e)

e) 4,001 — 1,004 = e) 5,000 — 4,146 =

(
(
(
(
(

. Ms Fitz is in charge of the local library. On Wednesday

morning she had 8,000 books on the shelves. Can you help
her keep track of the numbers? How many books were there
on the following Wednesday morning?

Books borrowed
Wednesday | 8000 | 600 | 400 |
Fiday | | e | el
(Satwday || 64 |y |
Monday ||
Tuesday |
Wednesday |

T ST M S W {— O _— T - G A, G — T [—— —
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) 140 + (985 — 159) = (

c) 253 + (852 — 258) = (d)757 + (363 — 175)
) 131 + (717 — 627) = (f) 820 + (456 — 287)
g) 2,341 + (6,517 — 2,591) = (h) 3,159 + (3,002 —1,459) =

b)249 + (534 — 120)

1. (@) 100 — 13 = 2. (a) 200 — 7 = !
| (b) 100 — 18 = (b) 200 — 11 = s:
. (c) 100 — 24 = (c) 200 — 29 = {
; (d) 100 — 35 = (d) 200 — 48 = ;
, (€) 100 — 42 = (€) 200 — 53 = |
: :
|

QO

4 (@) 934 — (100 + 489) = (b)850 - (199 + 502)

| (c) 879 — (414 + 277) = (d)615 — (314 + 275) =
; (e) 740 — (201 + 313) = (f) 801 — (142 + 302)

, (g) 7,464 — (2,159 + 2,151)= (h)6,000 — (4,123 +1,471) =

O
Il

5. A bus has 40 passengers. If 15 passengers get off and 21 new
passengers get on, how many passengers are on board?

6. A ship has 850 people on board. If 260 of these disembarked
(got off) and 197 new passengers came on board, how many
people altogether are on board now?

= S——— p— gpe— ~ N
W R W - S G G G S e G - —
— ——— —— —
—————— —

7. Mr Lynch had €2,600 in his bank account. How much has he
now if he spent €640 of it on a holiday and €390 on new
i: clothes?

| 8. Akettle held 2,750 ml of water. How much is in the kettle now
if | pour 1% litres into the teapot and 600ml into the coffee pot?

1 9. Acrowd of 9,050 fans attended a hurling game. If 4,260 of |
{ these were men and 2,360 were women, how many children ¢
were there? ]

TS O W[ (N {_— [ — (- N W, {7 WO AV N AT AT Y A AN A [ —"—_{—— .
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17 Mdtiplication  _______

1. (@ 7X5= 2. (@) 7X7= 1
(b) 8 X 4 = (b) 8 X 6 = f
(c) 3X 9= (C) 9X7 = :
(d) 4% 6= (d) 6 X7 = s
(€) 9X 8 = (€) 1% 4 = :

f

3. (a) (b) (c) (d) (e) |

23 41 59 83 43 r
X 6 X7 X 9 X 8 X 4
4. (a) (b) (c) (d) (e)
63 97 17 76 84
X5 X7 X 8 X 3 X 9

5. (a) 78 X 8 = 6. (2) 38X 7 =
(b) 94 X 6 = (b) 42X 5 =
(c) 60 X 4 = (c) 77X 3 =
(d) 59 X 2 = (d) 96 X 8 =
(€) 27 X 9 = (€) 83X 6 = |

7. What is the product of 93 and 77

8. If a box holds two dozen bars of chocolate, how many bars
will 9 boxes hold?

9. How many viewers can a cinema hold if there are 9 rows of
26 seats?

10. How much will | pay for 8 ice creams at 85¢ each?

11. How many pages will a writer write in a week if she writes 48
pages a day?

R, W, WA, WA, W W, WERR W WSWA WOE RS TR WS W wen wee, .

;r
1
!
!
|
f
1
!
|
|
|
!
f
|
|
f
!
|
i
!
!
i
!
|
{
f
|
i
|
|
I
|
|
|
|
|
J
|
{
|
|
|
|
|
|
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Ei 1. (a) 23X 10 = 2. (a) 138 X 10 = 1
b (b) 34 X 10 = (b) 140 X 10 = ',:
{ (c) 76 X 10 = (c) 356 X 10 = {
; (d) 59 X 10 = (d) 549 X 10 = ;:
(€) 97 X 10 = (€) 780 X 10 = {

|

f

3. (a) (b) (c) (d) (e) i

45 67 57 38 73 /|

X 30 X 60 X 90 X 80 X 70 '

- - - - - 1

1

4. (a) (b) () (d) (€) {

135 127 142 108 117 !

X 70 X 60 x 30 X 80 x 60 1:

o

5. (a) 46 X 80 = 6. (a) 108 X 70 = /|

(b) 86 X 60 = (b) 221 X 40 = 1

(C) 74 X 50 = (c) 171 X 30 = :

: (d) 65 % 30 = (d) 207 X 20 = ,'

| (e) 29 X 90 = (e) 160 X 50 = :

' 7. Mr Snoddy made a mistake when he was collecting money ::
for the school uniforms. He collected 40c too much from each /|

; child. Can you help him return the money to each pupil? '

i How much will he send to each class? ;i

I |

! Junior Infants 31 pupils Third Class 28 pupils El

: Senior Infants 29 pupils Fourth Class 30 pupils i:

| First Class 26 pupils Fifth Class 32 pupils :l

: Second Class 25 pupils Sixth Class 27 pupils l:

f

: 8. What is the product of 55 and 50? ::

| . _ [

i 9. How many pages are in 20 copies if each copy has ';
1 44 leaves? h

(_;

- T W A, AN AT A AT =" NN D" (T T U— U A O AT, [ —
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7. Can you help Ursula the Usher keep track of visitors to
her cinema? Each row holds 25 viewers. How many viewers
came to the movies each night?

- |Tota |
16 full rows and 3 others | (16 X 25) + 3
I

1. (a) 8 X7 = 2. (a) 12X 3 = f:
(b) 9%3 = (b) 8 X8 = f
(c) 4X6 = (c) 9 X6 = ;:
(d) 11X 7 = (d) 7 X7 = g
(e) 7X9 = (e) 12X 0 = ::

' /

3. (a (b) © (A ) fl
157 249 884 743 608 {
x6 x7 x9 x8 x4

g

4. (a) (b) (c) (d) (e) /|

56 74 93 84 49 ¥
x28  x3 x4 x6  xX79
i

5. (a) 45 X 64 = 6. (a) 58 X 72 = ;:
(b) 69 X 43 = (b) 81 X 95 = ¥
(c) 48 X 48 = (c) 56 X 81 = 1
(d) 63 X 70 = (d) 18 X 73 = 5:
(e) 74 X 59 = (e) 12X 89 = 1

1
,n
1
1

Tuesday | Tafulrowsandbothers | |
Wednesday | 12 full ows and 9 others | |
Thursday | 0 fullrows and 2others ||
Friday | 26fulrowsandf0others | | |
“Salurday | 34Tulrows and 190thers | ||
‘Sunday | 29fullrows and2dothers | | |

A T G G — . —— — —— e =
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7. |f a computer chip holds 64 pieces of data, how many pieces
of data could be stored on 25 chips?

8. A photograph album holds 88 photos. How many photos
could | store in 15 albums?

1. (a) 14 X 100 = 2. (a) 19 X 100 = f
(b) 26 X 100 = (b) 91 X 100 = /|
(c) 38 X 100 = (c) 68 X 100 = {
(d) 45 X 100 = (d) 87 X 100 = ::
(e) 67 X 100 = (e) 75 X 100 = '

i
f
3. (a) (b) (©) (d) (e) ¥
45 56 78 94 87 ¥
X 26 X 38 X 57 X% 33 X 40 :
i
4. (a) (b) (c) (d) (e) !:
46 37 72 56 83 }
X 46 X 73 X 17 X 44 X 37 1
X 46 X713 x17 X44 Rl ,
|

5. (a) 45X 89 = 6. (a) 41 X77= |
(b) 94 X 13 = (b) 61 X 50 = :
(c) 27 X 85 = (c) 83X 11 = f
(d) 34 X 73 = (d) 84 X 17 = }
(€) 63 X 36 = (e) 95 X 13 = x

f
o
|
|
|
|
1
|
|
n

9. Bill and Mary stayed for two weeks in a hotel on their
holidays. What was their bill if they were charged €35 each |
per night? (!

10. How many lengths of the pool will a swimmer swim in the :1
month of September if she swims 75 lengths every day? !

—————_—— L — - — " —— o —— A — o ——
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2. Which of these numbers is greatest?
(a) 2,489 3,116 or 1,889 (b)2,089 3,110 or 1,999
(c) 3,023 3,230 or 3,320 (d)5,155 5,515 0r 5,151
(e) 7,878 7,788 or 7,887 (f) 9,989 9,898 or 9,889

3. Write the number that comes after each of the following:

B i e U ——

(a) 753 (b) 812 (c) 679 (d) 799 j‘

(e) 999 (f) 1,999 (9) 1,235 (h) 3,467 |

(i) 3,589 () 7,689 (k) 8,499 () 9,009

7 4. Put each set of numbers in order starting with the smallest: i
i (a) 489 498 490 (b) 616 661 606 f
! (c) 1,883 1,238 1,838 (d) 2,231 2,321 2,221 ‘
(e) 4,599 4,598 4,589 (f) 5150 5,105 5,505 ‘

(9) 7,170 7,117 7,171 (h) 9,909 9,990 9,900 :

J

5. Which would you prefer: €5,060 or €5,006?

6. Which year came first: 1871, 1887 or 18172 i)
7. What year came after the year 15997 1
8. What year came before 19107 ‘
9

. The year 1973 was in the 20th century. In what century was i)
the year 17737

10. How many decades in a century? !

T SN ST S A —" S {——— G— G _— T [ A A A (U, —

T S
SR s s Ath-Class - Strand 1 © Folens 2003





image2.jpg
K Place-Value

1. Which of these numbers is smallest? ,t
(@) 1,489 2,116 or 1,769 (b) 5,079 5,110 or 5,999 a
(c) 8,028 8,280 or 8,380 ) 4,166 4,616 or 4,161 :

f

|

(d
(e) 2,878 2,788 or 2,887 (f) 7,989 7,898 or 7,889
(g) 3,033 3,330 or 3,303 (h) 9,000 8,999 or 9,022

|
f
|
|
|
|
|
f
2. Write all the numbers you can make from each set of digits: :
(@) 3,4 and 9 (b)1,5and 7 (c) 3,0 and 1 g
(d) 8,2and 0 (€) 5,5and 9 (f) 6,6and 7 :
|

l

1

I

|

|

J

[

|

|

|

|

|

3. Make the greatest possible number from each set of digits:
Make the smallest possible number from each set of digits:

(@) 6,3,8and 4 (b) 2,3,1 and 0
(c) 2,3,9and 5 (d) 3,3,8 and 9
(e) 1,3,1and 4 (f) 6,6,8 and 8
(g 7,5,5and 6 (h)y 7,7,7 and 1
(i) 6,6,8and0 () 6,0,0 and9

4. Write the number where the digit 4 has the smallest value:
(a) 3,549 or 2,488 (b) 8,400 or 7,204
(c) 5,004 or 2,043 (d) 9,148 or 7,422 il

5. Write the number that comes before each of the following: '

(a) 243 (b) 300 (c) 149 (d) 900 |l
(e) 990 (f) 2,000 (g) 2,367 (h) 8,140 1}
(i) 2,660 (i) 3,400 (k) 2,010 () 7,070 ::
6. Expand each number: ::
For example: 3,467 = 3 thousands + 4 hundreds + 6 tens + 7 units :i
(@) 4,158 (b) 2,379 (c) 1,158 (d) 8,028 I:
(e) 6,060 (f) 8,800 (g) 7,020 (h) 1,105 {:

&ﬁﬂ.(:i’insda «&lass - Strand 1 © Folens 2003
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(a) 18 (b) 22 (c) 27 (d) 36
(e) 41 (f) 91 (g) 25 (h) 95

(i) 173 () 348 (k) 589 () 602
. Round each number to the nearest 100:

(@) 199 (b) 602 (c) 540 (d) 670

(e) 121 (f) 850 (g) 333 (h) 650

(i) 2,321 (G) 4,777 (k) 6,242 () 8,997
. Round each number to the nearest 1,000:

(a) 2,300 (b) 8,900 (c) 7,800 (d) 1,010

(e) 2,458 (f)y 6,428 (g) 5,878 (h) 4,551

(i) 7,500 () 2,458 (k) 1,500 () 6,565
. Write the number that is nearer to 4,000:

(a) 4,500 or 4,400 (b) 4,578 or 4,587

(c) 3,800 or 3,600 (d) 3,645 or 3,654

(e) 4,100 or 3,950 (f) 4,007 or 3,991

(g) 3,980 or 4,012 (h) 4,125 or 3,825

. Round these amounts of money to the nearest euro:

(a) 402c (b) 597¢c (c) 812c
(d) 721c (e) 990c (f) 850c
(g) 663c ~ (h) 543c (i) €4-90
() €4.09 (k) €717 () €8-61

. Will a lorry that is 568cm long fit into a 6m parking space?

. Will a cable that is 1,450cm long connect two phones that are
15m apart?

T NS A G NN S Y N S —" S W —o—{—o—— ——— 7

WihGsnsdhClass - Strand 1 © Folens 2003





image4.jpg
9. A garage has 98! of petrol in tank A, 4121 in tank B and 386l '
in tank C. How much petrol has it altogether?

i - D e e —_
\ _\}
1. (@) 8 +9 = 2. (a) 17 + 10 = ,
1 b) 7 + 6 = (b) 19 + 10 = f
| (c) 6 +5 (c) 26 + 10 = :i
1 d) 9 +9 = (d) 42 + 10 = ;}
! (e) 12 +12 = (e) 580 + 100 = i
; {
‘ f
. 3. () (b) (c) (d) (e) /|
g 43 87 16 84 46 ¥
: 56 75 69 63 67 1
| + 21 + 61 + 47 +77 + 82 ("
| _ 1
| |
4. (a) (b) (c) (d) (e) g
s 159 228 546 149 87 1
’, 215 27 147 228 456 f
; +167 +165 + 9 +198 + 347 1
| |
f |
5. (@) 118 + 29 = 6. (a) 717 + 120 = '
; (b) 75 + 614 = (b) 199 + 413 = :
, (c) 611 + 345 = (c)126 + 8 = f
1 (d) 529 + 119 = (d) 92 + 238 = N
; (€) 123 + 812 = (€) 158 + 228 = ¥
I
: |
| 7. Mr Lynch collected €225 for the school tour, Ms Dempsey :‘
; collected €195 and Ms O’Neill collected €235. How much f)
| was collected altogether? l:
)
/ 1
: 8. Find the sum of 145, 135 and 478. :I
|
|
{
|
|
|

. Add 110, 210 and 310 in your head.

e
S TS AN Class — Strand 1
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/ Addition

i,,,,. Plagagiogie ISR RSt R S Al SN RSRSNRNNN caftveevafiagiin “i)
1. (@) 10+12 = 2. (a) 27 + 9 = i
b) 9 + 7 = (b) 36 + 9 = |
! ) 8 +6 = (c) 48 + 9 =
! (d) 6 +14 = (d) 62 + 9 =
{ (€) 13+ 8 = (€) 77 + 9 =

3. (a) (b) (c) (d) (e)
1,246 2,247 3,105 2,588 2,155
1,147 2,134 2,159 1,477 664
+1279  +1599  +2008  +3,140  +1,599

4. (a) (b) (c) (d) (e)

3,131 4,000 12 3,344 1,717
1,285 3,147 4,799 1,007 4,343
+ 3,577 + 357 + 1,288 + 17 + 118

5. (a) 1,248 + 2,792 5
(b) 2,799 + 47

(c) 3,479 + 479
(d) 946 + 1,499

(e) 4,511 + 3,000

(@) 1,479 + 2,121 =
(b) 4,477 + 3,138 =
(c) 1,025 + 3,475 = ='
(d)
(e)

d) 2,799 + 1,009 =

e) 5,465 + 2,090 = ;.

i
|
|
[
|
[
:
|
!
[
|
|
|
J
! 7. Atrawler caught 1,349 cod, 2,118 mackerel and 1,540
: whiting. How many fish altogether were caught?
|
|
|
i
!
|
|
|
|
i

8. Aforest has 2,300 spruce trees, 3,550 larch trees and 950 i
ash trees. How many trees are there altogether? (!

9. A supermarket had 1,233 customers on Wednesday, 1,850 f!
customers on Thursday and 2,366 customers on Friday. How ‘|
many customers did it have altogether during the three days? i

. Add 240, 330 and 230 in your head.

A T --------------------------
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8 Addifion

7. A nursery delivered 2,350 marigolds, 3,850 lilies and 1,050
ferns to a garden centre. How many plants altogether were
i delivered? !

i 1. (@) 8 +7 = 2. (a) 148 +100 = 1
f (b) 15 + 6 = (b) 249 +100 = s:
{ (c) 18+ 5 = (€) 751 +100 = {
{ (d) 12 +12 = (d) 1,379 +100 = ¥
{ (e) 13 + 8 (e) 2,483 + 100 = ::
¥ s
3 () (b) (©) (d) e) I
; 4,581 1,155 1,020 159 1559 I
| 2,247 2,279 3,349 2,276 3447 ]
3 +1,205  +4579  +1,973  +2,008 + 8 |
| 1
4 () (b) ©) (d) (e) {
b 1,441 277 4,776 1,505 4330 1]
, 2,006 347 3,446 3,377 201 /|
’ + 16 + 2,304 + 247 + 375  +3,449 :
T A
5. (a) 1,546 + 2,679 = 6. (a) 4,307 + 484 = g
; (b) 136 + 3,746 = (b) 2,681 + 1,117 = !
; (c) 2,050 + 1,997 = (c) 1,679 + 1,109 = g
j (d) 1,556 + 5,121 = (d) 6,458 + 199 = :
| e) 2,679 + 9 = (e) 2,497 + 2,497 = ;'
f !
’(
{

1 8. Jimmy scored 2,338 points on his favourite computer game I
| and Jenny scored 2,438 points. How many points in total did !
they score? ¥

9. Find the sum of 140, 240 and 340 in your head. f!
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